
Monday 4th May
Rapid Recap – Choose the appropriate challenge for you. Complete one of the boxes below.
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Add and subtract fractions with the same denominator - These links demonstrate the method and may help with your home learning:

https://www.bbc.co.uk/bitesize/topics/zhdwxnb/articles/z9n4k7h

https://www.khanacademy.org/math/arithmetic/fraction-arithmetic/arith-review-adding-subtracting-frac/v/adding-fractions-with-like-denominators
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	1. Percy spent 3/8 of his money on  food and another 2/8 of his money on a drink. What fraction did he spend in total?

2. John spent 2/5 of his money on  food and another 1/5 of his money on a drink. What fraction of his money did he have left? 

3. [bookmark: _GoBack]Sally has a piece of cloth. She used 1/5 of the cloth to make a pillow cover and another 2/5 of the cloth to make a tablecloth.
What fraction of the cloth was used altogether for the pillow cover and tablecloth?
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Tuesday 5th May
Rapid Recap – Choose the appropriate challenge for you. Complete one of the boxes below.
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Making Equivalent Fractions – These links demonstrate the method and may help with your home learning. 

https://www.youtube.com/watch?v=qcHHhd6HizI

https://www.bbc.co.uk/bitesize/topics/zsxhfg8/articles/zwjwgdm
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Wednesday 6th May
Rapid Recap
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Adding and subtracting Fractions – These links demonstrate the method and may help with your home learning

https://www.youtube.com/watch?v=tDQipFjAoT8

https://www.bbc.co.uk/bitesize/topics/zhdwxnb/articles/z9n4k7h
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We must find the lowest common denominator (The smallest number that is in both times tables, in this case 2 and 3). The smallest number that is in both the 2 and 3 times tables is 6.
1  x   3    =    3                           1    x    2     =     2
2  x   3    =    6                           3    x    2     =     6
Both these fractions now have the same denominator. We can now do:
3   +   2    =    5
6   +   6    =    6


	Choose the correct challenge for you:
[image: ][image: ][image: ]
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	Add the 2 fraction below to move your way up the pyramid
[image: ]6
8










Thursday 7th May
Rapid Recap
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Adding and subtracting Fractions – These links demonstrate the method and may help with your home learning

https://www.youtube.com/watch?v=tDQipFjAoT8

https://www.bbc.co.uk/bitesize/topics/zhdwxnb/articles/z9n4k7h
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	1. Percy spent 1/4 of his money on  food and another 2/8 of his money on a drink. What fraction did he spend in total?
2. John spent 1/5 of his money on  food and another 7/10 of his money on a drink. What fraction of his money did he have left? 
3. Sally has a piece of cloth. She used 1/2 of the cloth to make a pillow cover and another 2/5 of the cloth to make a tablecloth.
What fraction of the cloth was used altogether for the pillow cover and tablecloth?
4. Sally has a piece of cloth. She used 1/2 of the cloth to make a pillow cover and another 1/3 of the cloth to make a tablecloth.
What fraction of the cloth does she have left over? 
5. You go out for a long walk. You walk 1/2 mile and then sit down to take a rest. Then you walk 1/3 of a mile. How far did you walk altogether?
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Friday 8th May

Play TTRockstars – 30 minutes
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Fill in the missing fractions.
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Mo and Teddy are solving:

6 5 7

13 13 13

Who do you agree with?
Explain why.
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Snail Maths

4 x11=244-40=>[1x9=[1+ 150 = []1- 159
!

X8 = + 130 = — 47 = - 112
g

Can you get to the end of the snail’s trail?
The answer from the first number sentence
becomes the first number in the second
number sentence. Start at 4 x 11> 44, The

|
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Snail Maths

3564 -782= 2782 -2719=

x8=>[]+6=

Can you get to the end of the snail’s trail? The
answer from the first number sentence becomes
the first number in the second number
sentence. Start at 3564 — 782 =2782. The

first one has been done for you.
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These fractions are really the same:

1 2 4

2 7 4 8

Why are they the same? Because when you multiply or divide both the top and bottom by the
same number, the fraction keeps it's value.

The rule to remember is:

"Change the bottom using multiply or divide,
And the same to the top must be applied”

Here is why those fractions are really the same:

x2 x2
N

1 2 4
2 4 8
x 2 x 2
And visually it looks like this:
1/2 2/4
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Rosie says,

@

Using her method, here are the

To find equivalent
fractions, whatever you
do to the numerator,
you do to the
denominator.

equivalent fractions Rosie has found forg

6

10

Are all Rosie’s fractions equivalent?
Does Rosie’s method work?
Explain your reasons.




image16.png
Here are some fraction cards.
All of the fractions are equivalent.

4 B 20

A C 50

A+B=16
Calculate the value of C.
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1. What is the next
number? 30, 40, 50,

4. What is the sum of
4,9 and 3?

5. Take 1 from 400.

6. Draw the next
shape.

Aollaolano

7. Which is the
greatest number?
76,79,73,37,75

8. Which number does
not belong?
4,8,10,12

9. Does 3 x 6 have the
same value as
6x3?

10. How many tens
are in 90?

11.6+6+6=6x

12. How many weeks
are there in a

1. Is this angle obtuse,
acute or a right-angle?

—

2. Subtract 13 from six
eights.

3. 64+8=

4. What number does
this tally show?

AHt A

5. What are the factors
of 18?

6. What is half of £7?

7. Round 92 to the
nearest 10.

8. Continue this

sequence
53,6375 |

9. Write the operation to

make this calculation

correct.
72 9=8

10. What is 100 less
than 8011?

11. Which unit should
you use to measure a felt
tip pen?

12. What needs to be
added to 594 to make
Q00?

13. Write 0.75 as a
fraction?

1. What number is
halfway between 5800
and 7200?

2. Rewrite a in its
lowest terms.

3. What fraction of a
minute is 1 second?

4. 10% of 40 =
5. 0.6 +0.008 + 6.03 =

6. Put these numbers in

order, largest first.
5.0017, 4.7849, 5.009,
5.07

7. Complete the

sequence.
5.4, 538, 6.2, ,

8. Which is the odd one
out?

654 541 877 859 673

9. What is the value of
n?
16 + n=102

10. Double 78
11. Estimate 516 + 284

12. What is the fourth
month of the year?

13. @xN+Gix4)=

14. The school raised
£1046 in 2012 and £1217
in 2013. How much did
they raise in total?

1. What is the average
of 4.6 and 9.8?

. 82=56+

. x=5,y=3
5y +3x=

. 25% of 500

.1 1
. Whatis _ o ?
ﬂL52 f3

. 8=

. What number is
halfway between -5 and
10?

8. Write this number in
words 45,019

9. 572+2=

10. Complete the

sequence.
2.15, 2.35, 2.55, ,

11. Put these numbers
in order, largest first.
1.59, 15.16, 15.8

12. Maud starts school
at 8:55 and finishes
school at ten minutes to
three. How long is the
school day?

13. How many months
are there in ten years?

14. Insert<,>or =
0.074 0.08
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Let's try this:
| |
7+3

The main rule of this game is that we can't do
anything until the denominators are the same!
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2a. Complete the calculation for this
model.
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3a. Shade the model to complete the
calculation.

¢ .
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7a. Shade the model to complete the
calculation.
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10a. Complete the calculation for this
model.

15 5

% .

11a. Complete the calculation below
using your knowledge of equivalent
fractions.

12 3
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16 24
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1. Is this a right

angle? \

2. What is the total?
6ml + 19ml + 8ml + 3ml

3. Jamie bought 2
chocolate bars. They
were 35p each. How
much did they cost
altogether?

4. What will the date
be 1 week after the
17t of May?

5.70+10=
6. What is half of 4007

7. Freya ate % of a bag
of crisps. What
fraction was left?

8. Write a number
between 20 and 40
that is nearer to 20.

9. 30+5=

10. What is 30 more
than 40?

11. What shape is this?

O

12. What is the next
even number after 26?

1. How many right angles
are there in 2 squares?

2. A television programme
starts at 3:25pm and
finishes at 4:00pm. How
long does the programme
last?

3. 96:8=
4 4x9=

5. What is the product of
7 and 3?

6. 880+ 10 =

7. Daisy was born in
1992. How old was she in
2004?

8. Round this fraction to
the nearest whole number.

2
14

9. How many grams are
there in a quarter of a
kilogram?
10. 4 - 2 _

10 10

1. 18+17 = +2

12. Which two numbers
make 250?
135 115 112 148

13. How many tenths are
in 3.4?

14. 70-3.0=

15. 8x12=

1. Is this an isosceles,
equilateral or scalene
triangle?

2. Reduce seventy-five
thousand by eight
thousand.

3. What fraction of a
week is 1 day?

4. Jenny leaves the
supermarket at 18:15. She|
was there for 55 minutes.
What time did she arrive?

5. 518m = m

6. Jamie bought a large
chocolate bar for £2.91.
He paid with a £5 note.
How much change did he
receive?

7. Imagine a 100 number
square. What number is 2
squares to the left of 39?

8. 3kg =
49

9. What is the total of the
even numbers?

92 67 89 54 53

10. 350 + = 1000

11. (632-254)-9=

12. 6x9 = + 42

1. Claire bought four
notebooks at £3.02 each.
How much did she
spend? Calculate her
change from £20.

2. Perdita cut four

13.3cm lengths from a
roll of 90cm ribbon.
How much was left?

3. Round 7 g to the

nearest whole number.

4, 3 of 500 =
5

5. Write the next three
numbers in the sequence.
1 1 5
2,.2,,2 v
6. Parrie is facing North.
She turns clockwise 45°.

What direction is she
facing now?

7. What is the sum of
the even numbers
between 12 and 24?

8.0.25 of 36 =

9. Ithink of a number.

I multiply it by 9, divide
it by 10 and then add
7.8. My answer is 17.7.
What number did I think
of?

10. Which number is
692 less than 8142?

11. 114 + 12 = half of|
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2a. True or false? 2b. True or false?
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3 1 7
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Explain your answer. Explain your answer.
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éa. Miley and Tegan have eaten part of a

pie.
| ate % of the pie. L

Miley

4 | ate 0 ofthe pie. J

Tegan

What fraction of the pie did they eat
altogether?
Show your working.

é6b. Max and Onua have eaten part of a
coke

| ate - of the cake. L

Max
Q{ | ate = of the cake. ]

Onua

What fraction of the cake did they eat
altogether?
Show your working.
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Annie solved this calculation.

Can vou spot and explain her mistake?
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1. How many
squares can you count?

2. 5+5+ 15

3. 675=600+

4. 5x8)+2=

5. What is the next
number?

12, 16, 20, 24,

6.4 x

7. Write < or >

43 |aq

8. What is the biggest

number you can make

from these digits?
q3,8

9. I think of a number,

I add 7 to that number.

My answer is 21.
What number did I
think of?

10. How many minutes
are there in half an

hour?

1. 21+3=

1. How many faces does
a sphere have?

2. 43x10=

3. Which is the odd
number?

706 359 582 858

4. 11 +14+27 =

1

5. 2 of 74=

6. What is the value of
9 in 2978?

7. Round 632 to the
nearest 100.

8. What are the next
two numbers?

23, 28, 33, 38, A

9. What is the largest
number you can make
using 9, 2, 5 and 8?

10. How many minutes
are there in an hour and
a quarter?

11. I think of a number,
I subtract 17 from that
number. My answer is
45. What number did I
think of?

.3
12.Write 4

13. Work out the
perimeter. 9cm

as a decimal.

4em

1. Write 7 minutes to 10
in the morning in the 24
hour clock.

2. What is the difference
between 43 and 89?

3. Find the mean of 17,
12 and 16.

4. What is the product of
7 and 9?

5. Multiply 17 by 100.
6. What is 82?

7. What is the total of
7.4 and 6.5?

8. Write89 as a decimal.
100

9. I think of a number, I
multiply it by 9 and then
subtract 17. My answer
is 46. What number did I
think of?

10. What number is
halfway between 11 and
12?

11. Round 5.4 to the
nearest whole number.

12. How many faces are
there on a tetrahedron?

13. What size is angle x?

x/w

1. 112=

2. Put these in order,
starting with the smallest.

34
78% 100 0.9

3. What is the size of
angle t?

t
a6 45
4. 10% of 85 =
5. The temperature is
-4°C. It rises 9°C. What
is the new temperature?

. 52482 =

. 6.12x 1000 =

. b4 x 3=72

. BxN+4x8 =

10. What are the next
two numbers?

14,10, 6, 2, ,

11. Put these numbers in
order, largest first.
7.1, 7.46, 7.423,

12. Write 4 as a decimal.
5

13. 0.4x12=

14. 21 +0.62+79=

15. 84-38=
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Use the number lines to help you do the additions and subtractions.
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